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22
(407)(7)

7

ckgj

ckgj

  fp= Øekad 14-16 ds fy,&

     oxZ fxM }kjk leyEc prqHkqZt ds vuqekfur {ks=Qy dh x.kuk

  leyEc prqHkqZt ABCD esa

 iwjs oxZ rFkk vkèks ls cM+s oxksZa dh la[;k = 16

 Bhd vk/ks oxksZa dh la[;k = 1

 leyEc prqHkqZt dk {ks=Qy = iwjs oxksZa dh la[;k $   vk/ks oxksZa dh la[;k

= 16 +    ×1

= 16 +    = 16 + .5 = 16.5 oxZ lseh-

1

2

1

2

xzkQ ij cus leyEc prqHkqZtksa dk oxZ fxzM dh lgk;rk ls vuqekfur {ks=Qy  

 fudkyuk rFkk lw= ls {ks=Qy fudkydj mldk lR;kiu djukA

1

2
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lw= }kjk

leyEc prqHkqZt ABCD esa

lekUrj Hkqtk,¡ AB = 7 lseh-

o CD = 4 lseh-

prqHkqZt dh Å¡pkbZ DE = 3 lseh-

 leyEc prqHkqZt dk {ks=Qy =
1

2
 (lekUrj Hkqtkvksa dk ;ksx) Å¡pkbZ

+=
1

2
(AB + CD)  DE

=
1

2
 (7 + 4) 3

=
1

2
111 3

=
33

2

= 16.5 oxZ lseh-

Li"V gS fd

oxZ fxzM }kjk Kkr leyEc prqHkqZt ABCD dk vuqekfur {ks=Qy

= lw= }kjk Kkr leyEc prqHkqZt dk {ks=Qy

A B

CD

E

 

 

 

   

   

    



fp=&14-16

4 lseh-

7 lseh-

3 lseh-
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xzkQ ij cus cgqHkqt dk oxZ fxzM dh lgk;rk ls vuqekfur {ks=Qy fudkyuk rFkk

lw= ls {ks=Qy fudkydj mldk lR;kiu djuk

fp= Øekad 14-17 ds fy,

oxZ fxzM }kjk cgqHkqt dk vuqekfur {ks=Qy&

cgqHkqt ABCDEFAesa

iwjs rFkk vkèks ls cM+s oxksZa dh la[;k = 29

Bhd vk/ks oxksZa dh la[;k = 2

Bhd iwjs oxksZa dh la[;k = 29 +
1

2
2

= 29 + 1

= 30

vr% cgqHkqt ABCDEFA dk {ks=Qy = 30 oxZ lseh-

lw= }kjk cgqHkqt ds {ks=Qy dh x.kuk&

cgqHkqt ABCDEFAdk {ks=Qy = AGB dk {ks=Qy $ leyEc prqHkqZt BGIC

dk {ks=Qy $ CID dk {ks=Qy $ DHE dk

{ks=Qy $ vk;r HEFG dk {ks=Qy $ GFA

dk {ks=Qy

A

B

C

D

E

F

H

I

G































































fp=&14-17
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2
1

7

22

;k

=
2

1
BG × GA +

2

1
 (BG + CI) × GI +

2

1
 CI × ID

+
2

1
 HE × HD + HE × HG +

2

1
 GF × AGAG

=
2

1
 × 2 × 2 +

2

1
 (2 + 3) × 4 +

2

1
 × 3 × 2 +

2

1
 × 3 × 4

+ 3 × 2 +
2

1
 × 3 × 2

= 2 + (5 × 2) + 3 + (3 × 2) + 6 + 3
= 2 + 10 + 3 + 6 + 6 + 3
= 30 oxZ lseh-

Li"V gS fd

oxZ fxzM }kjk Kkr cgqHkqt dk vuqekfur {ks=Qy ¾ lw= }kjk Kkr cgqHkqt dk {ks=QyA

1 2 1 2

1


